Answer ALL the questions,
Write your answers in the spaces provided.

You must show all of your working,

1 Sketches of six different types of diagram used in statiétics are shown below,

Diagram A Diagram B Diagram C
OO 3
|
2 10O
2
. 31000
| 2 3
Diagram D Diagram E Diagram F
1 1
w x 3 5
X
v X 212 2 4 5
X
X
Ao |
1 2 3

..................................

| 17
(b) Write the letter of the diagram which shows a scatter graph
| [1]
(c) Write the letter of the diagram which shows a pictogram
| [
[Total 3 marks]
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Leave - 2 Fred, Guto and Julie each upload a video to a website. ' Leave
blank The number of views received by each video in a week is shown in the table below. blank
Video uploader Number of views
Fred 1173
Guto 1432
Julie 958
(a) Write the number 1432 in words.
..... one . thovsand fouc. hundred
A
..................... L f\'ﬁ’\'\m’o
[1j
(b) Calculate the sum of the number of views received by all three videos.
|| For
EEN 3563
q S on & coaladador /1]
(c) How many more views did Guto’s video receive than Julie’s?
y22 — 4b3
1]
[Total 3 marks]
3 Kai works 42 hours each week. His rate of pay is £12.36 per hour.
Calculate how much Kai earns in a week.
42 1226
e 212
[Total I mark]
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4 Use your calculator to work out the following

(@ 115+312
19a+ 5

. Give your answers to 3 significant figures.

0.28

.....................................

1
(b) 1e*
65, 53b
’ 62,900
1]
() %/21.588
= UL~ S o N
1]
[Total 3 marks]

5 Latifisusinga map. It has the following scale:

1 cm represents 250 m

The route from his house to the bowling alley measures 13 ¢m on the map.

What is the real-life distance from Lati
Give your answer in kilometres.

A0 x 13 - 335@@
2750 < 1000

f’s house to the bowling alley?

[Total 2 marks]

6  Pupilsin Year 9 at Springfield Acade
The table below shows their choices,

French German Spanish
34 18 68

A pupil is selected at random. Work out the probability that they study Spanish,
Give your answer as a fraction in its simplest form.,

. £ in
68 (P e )
120 |
[Total 2 marks]

my have to study exactly one language,

LS+
+ 34
120

O

Sy Mpli %

Leave
blank

GCSE Maths / Foundatfon 7 Set 1/ Paper 2

© CGP 2018 — copying more than
4 5% of this paper Is not permitted

7 Solve:
(a) x--3=15

=18
43 *3 -

x=l8 .......................

1]
Jrru
3x % =3 %3
[Total 3 marks]

8 Points 4 and B have coordinates (2, 5) and (2, —1) respectively, as shown on the axes below.

.Ily

= TN - 4]

N

L-X
;2

o =

[ T 6]

A £

(a) Write down the length of line 4B.

| (b) Line AC is perpendicular to line AB and half the length. of line 4B.
| Write down the two possible pairs of coordinates of point C.

0 D

[Total 3 marks]

Leave
blank
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9 . o :
Write the ratlg 5: Ei’ in the form 1:n, where 7 is a decimal,
5
B8+5
Aol
[Total 1 markj
10 Some common words used in algebra are shown in the box below,
m SXPresSion- function  _identity .,
mquua-lﬂy root sequence solution

Complete the table below by writing a word from the box in each of the three spaces

Algebra Description
3d term
3 . -
4-6 expressicn ( D
3d- '
612 i‘ N Q,OLUCL-L&J'—L} @
3d-6=3(d-2) * o O
raenh t
o

[Total 3 marks]

11 Here are four numbers:

2 5 7 13

(a) Which two numbers have a sum that is a prime number?

.........................

| 1]
(b) Which two numbers have a difference that is a cube number?
........ |3 and 5
| ]
(¢) Which two numbers have 3 product that is a factor of 289
......... ;l and ]
1]
- [Total 3 marksj}
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12 Mike leaves his house at 6:30 am and rides his motorbike to the railway station.
He waits at the station and then catches a train to the city centre.
He then jogs to his place of work.
A distance-time graph of his complete journey is shown below.

80

701 7 :

60

50

40

30 f

Distance (km)

20

10

v

0
06:00  06:30 07:00 07:30 03:00

Time
(a) How far does Mike travel from his house to the railway station?

........... 2 km

1]

(b) How long, in minutes, does Mike wait for his train at the station?
. \5 minutes
1]

(c) Explain how you can tell from the shape of the graph that the train
is the fastest mode of transport that Mike uses during his journey.
- - o
acagieny is skeepesk . Auang ...
\ [+

Pne 0L SELINED e
1]

(d) Calculate the average speed, in km/h, of Mike’s complete journey to work.

FA K
ko) hc&®

2]
[Total 5 marks]

Leave
blank
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13

T
he map below accurately shows the positions of three airports, F, G and H

z

Z

N

(@) Measure the bearing of F from H.

(b) Measure the bearing of H from G,

3@@°~ 3@

............
....................

.............

[Total 3 marksf
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14 In the London 2012 Summer Olympics, the Netherlands won 6 gold medals, 6 silver medals
and 8 bronze medals. This information is shown approximately on the pie chart below.

(a) Ifthe pie chart was drawn accurately, what would be the size of angle x?

Lb4b+8 < 2

b5 360 = ° O
% oF - IO

Leave
blank

(D K
number of medals won by the Netherlands in the Sochi 2014 Winter Olympics
are shown on the bar chart below.
104
g
B | — ]
=
"8 ]
E 5
Q
o [ |
—g ||
Z ——
b
Gold Silver Bronze
(b) At which Olympics did bronze medals make up a greater percentage of
the Netherlands’ total number of medals? You must show your working.
2 2100 = 40%
20
(-]
20> 1 oo - 3F5% 0
2O
[37
[Total 5 marks]
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1S  Anacreisg unit of area.

Niall is a retired farmer who wants to offload 12% acres of his land.

He sells some to two other farming companies.
He donates the rest to a natyre conservation charity,

Fibley Farms buys 6 % acres at £8000 per acre,
Caraway Crops buys 4% acres at £8500 per acre.
It costs Niall £1750 in total to organise the sales and donation.

(a) Calculate the area of land that Niall donates to the charity.
Give your answer as a mixed number.

R4 —68 — L3 =
(Cn HCDUF CO.ICLukaJ“or“)

................................ ac;gjs
(b) Calculate the profit that Niall makes from selling his land.
6l/g X 8000 = 4.9, ooo
—+ ,
434 %8500 = Yo, 37%
39 335U oo

\ _:!_50 £E..Q.7T, } beS ...... [2]
{Total 4 marks]

16 45% of the pupils at a school are boys.
20% of boys at the school have blond hair.

What percentage of pupils are boys with blond hair?
o
0% of 45%
G.A xO U5
= 0O.09

Leave
blank

[ X
CO [Total 2 marksy
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17 A teacher receives seven essays frpm her students. t
The number of words in an essay is called the word count.
The word counts for the 7 essays are:

510 379 418 652

754 530 369

{a) Calculate the mean word count of the seven essays.

Ho+ 339 « 41§ + 354 + 530

+ 369 + 692 @

= Sbla = -jr 5{6 words

2]

(b) Work out the median word count of the seven essays.

2 DIATIBT 510, 530, gﬁf 25

The teacher receives an essay late. When included with the other essays, t_t.le' rarllgszven
in word counts is now more than double the range in word counts O,f the origina .

(c) Explain clearly why the late essay must have the highest word count of all the essays.

hos o be. . h@.h@at ......................................................................

}
T : }— 0 s fen
.......... OSSN A= == Ve S F

(d) Work out the median word count of the eight essays.

hof way  behoeen

5 I O & 56@ ....... 5QO words

1]
[Total 7 marks]

[

Leave
blank
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id below.
18  The diagram below shows a lithium battery in the shape Leave - 19  Shapes A and B are drawn on the grid be
of a solid cylinder with diameter 1.2 ¢m and length 4.8 ¢cm.

- : Leave
/ blank
blank .
1.2 cm . . |
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N
a
~

—4
& /|
The mass of the battery is 29.1 g.

(b) Calculate the density of the battery. Give your answer to three significant figures.

@"“’ _DQ - Qq.[g @
5:43em”

v
= 5. ?)bOLF

2] (b) On the grid above, reflect shape A in the line y = x.
: Label your image C.
[Total 5 marks]

2]

[Total 4 marks/
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20 Make s the subject of the formula 12 = 4,2 + 2as

au?___ ‘-'u‘z-
VAR QO.S‘ @

............
...................................
.........

[Total 2 marks]

21 A skate park ramp is in the sh

. . ape of a tri i .
15 a right-angled triangle with g angular prism. The cross-section of the prism

a4.77 m base and 1.06 m perpendicular height.

1.06 m

4,77 m
Calculate

>

zZ, t i
he angle of the ramp. Give your answer to 5 suitable degree of accuracy.

MI-@G
x ope

.......
.........................

[Total 3 marksj
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22 Olivia asks the 16 members of the Year 11 girls school football squad which
football team they support. 12 of the squad said they supported a team in Lancashire.

Olivia says, “75% of girls at our school support a football team in Lancashire.”

Give two reasons why her conclusion is likely to be incorrect.

N .acmele. Size. s .. SMnar AP
..... OMPP\\ﬂJFD Whae  sdod

............................................................................................. Uvarsivebnanennibes

............................................................................................................................... davivenn

Of\w asked -Fccpocdl "Pl%@:g g[%c);l?r}z%]

23 In January 2016, the hedgehog population in Wales was estimated to be 96 400.
This is 4% less than the estimate for January 2015.
This formula is used to predict the size of the hedgehog population in the future:

n = 96 400 x 0.96'

where 7 is the number of hedgehogs and ¢ is the number of years after January 2016.

(2) What assumption has been made by choosing to use this formula?

Same... r\ecbuc:\nmmpcpu‘aﬁm

[1]
(b) How many full years will it be before the hedgehog population
is less than < of the total in January 20167

4
2L 96,400 s H23
2 O

QolOx 0-4l

34_

ye-y=
by 86502

2 33
gjgg(fz 85289 I8F7

75458 946/_0 66?5%2‘ [Total 4 marks]

Leave
blank
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24 A bus company’s fleet of double-decke

ts, single-deckers and minibuses was in the ratio
8:3:2. After selling some of the doy

ble-deckers and single-deckers the ratio is 12 :5:4,
The bus company has 20 minibuses,
How many buses did the company sell in total?

g 5.-/23520 Jpecit ;?o-;—;z: le

Q43+ = I3

1310 = L3O

-----------------------------------------

[Total 3 marks]
25 The diagram shows an equilateral triangle AED B C
which shares the side 4D with the square ABCD. E ; y
Work out the size of angle y. ~—
60

130-30° - 150° o
S0+ 3 = 3s7])

€CD = isosceley(T)

[Total 4 marks}
[TOTAL FOR PAPER = 80 MARKS/
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